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2 W B #E7E Boal R
Bp 32 05403 H 14 H ks © 105 b (BiiA)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE w5 10. 00 | #H%F 264 2,640 2,160 2,007 1,728
H X £ IH 15. 00| FA % 436 6,540 2,160 1, 640 1, 242
T oD o 12. 00| AHxf 67 804 975 813 648
E O NAK w5 4. 00 | FHxF 50 200 1,836
H % i 3. 00| FHxf 199 597 1,296 883 756
i A ] 1L 1. 00| FHxf 275 275 540 442 378
= 1| 5.00 Mixk| 15 75| 2,700| 2,268 1,620
A w5 2. 00 | FH %t 142 284 864 768 540
EEL w5 4. 00| fHxf 133 5321 1,512 1,203 1,080
[ I\ w5 5. 00| FH%f 785 3,925 1,890 1,547 1,134
~7 k= |k F 3. 00 [ FH %} 48 144 1,782
IR Foak L 2. 00| FA%f 5 10 3,132
H % (i 5. 00| FHxf 80 400 1,728] 1,647 1,512
N2 JEE I 10. 00| AHxf 547 5,470 2,268| 2,034 864
A—=T 4 AbiEiE 10. 00| AHxf 159 1,590 1,512] 1,320 702
B OF g, 10. 00| AHxf 136 1,360 2,376| 1,866| 1,512
£ A b 20. 00 | #H 5%} 59 1,180 2,484| 2,433| 2,052
w | 10.00| fxk|  2e6] 2,660 2,592| 1,758 54
LA A o 10. 00 | #85f 711 7,110 2,916| 2,128] 1,350
P=—lH A & ] 4. 00| FHxf 832 3,328 1,566| 1,148 324
Tuyal— (r— 6. 00 | FA%f 254 1,524 2,484 1,617 864
= 1| 6.00| Fxt| 1 o] 6o | 20,160
AEHEE w5 0. 10| #H%f | 3,850 385 151 103 65
ZDXH E % 0. 20 | FH %} 900 180 82 54 39
LU 5 % 0. 20| FA%F 150 30 81 59 27
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i 4 JE = Wae | %K F e T fE g2y ]
JA 7 AR L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160
5 U H & 10. 00| FA % 176 1,760 3,742 3,497| 3,084
Yajfa— #H & 10. 00 | #H%f 26 260 3,780 2,783| 2,484
Avara 7 4 U E | 13.00| fH%f 5 65 3,024
T AN E— = R 0. 25| A%} 684 171 346 292 194
HEFH D & ] 0. 27 | ¥H %} 2, 712 729 518 452 270
S 5 0. 25| FHx} 7,392 1, 854 497 368 216
IRBHD Y £ IH 0. 25| FH*} 3,101 777 367 327 227




